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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4771876880 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement regarding growth, development and

maturity of the child
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Maturation refers to the emergence of an organism’s genetic potential
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Question Number : 2 Question Id : 4771876881 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under List-B

List-A List-B
—
U =,
(Development) (Theme)
WHRR, (Do)
A}  Erikson's Psycho-Social 1)  Depends on concrete and abstract
Development thinking abilities
WO & U0 HRAT-TRIoNE Toog;ets® ThoEy, ©TLeIF WBoEm
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B)  Piaget's Cognitive Development 11)  Depends on experiential learning
LOIRNETR B0AR BRE, 8, BEERT ﬁugu‘hmu BROoRATE. 3
C)  Carl Roger's Self Development 11) Depends on universal ethical
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iv} Depends on the result of child
interaction with his social

environment

Choose the correct one
Sfalevsninta il b
Options :
A1, B-iv, C-11

1. ®

A-1, B-11, C-n



A-1v, B-1, C-11
3. ¢

A-1m. B-1wv, C1

Question Number : 3 Question Id : 4771876882 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Erik Erickson’s ‘Psycho-Social Development Theory', a student of

(Class-IX 15 1n this stage of crisis
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Initiative Vs Gult
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Autonomy Vs Shame
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Question Number : 4 Question Id : 4771876883 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the external factor, that influences Child

Development
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Question Number : 5 Question Id : 4771876884 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following identify those that are more helpful to teacher to provide
adequate learning experiences for every learner according to thier
individuality
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B) Adjusting the curriculum
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C) Adjusting the methods of teaching
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D) Proper knowledge of the individual’s potentialities

Choose the correct one:
JowmTmERy, i
Options :

A.B.C.D
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A, C.Donly
A, C. D »g,

B.C. D only
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Question Number : 6 Question Id : 4771876885 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Saritha, a 12 years’ age girl, appeared and completed ‘Intermediate’ with A+

grade. This reflects that her

Options :

Chronological age 1s greater than Mental age
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Mental age 1s less than Chronological age
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Mental age 1s greater than Chronological age
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No relation between Chronological and Mental age
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Question Number : 7 Question Id : 4771876886 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of stages of creative thinking
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Options :
Preparation. Verification. Incubation, Illumination
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Preparation, Incubation. Illumination, Verification
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Verification. Preparation. Incubation. Illumination
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Question Number : 8 Question Id : 4771876887 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following iz NOT an example for primary reinforcement
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Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Question Number : 9 Question Id : 4771876888 Question Type : MCQ Option Shuffling : Yes Display

As a teacher, which test do you use to assess the aptitude of vour students?
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Thematic Apperception Test
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Raven’s Coloured Progressive Matrices
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Question Number : 10 Question Id : 4771876889 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With respect to nature of the Head of the school. which among the following

lead to maladjustment. criticism among teachers and students?
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Options :

Social adaptability and maturity

Participative leadership
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2. %
Authoritarian leadership
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3.

Self-confidence and positive approach



Question Number : 11 Question Id : 4771876890 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which method 1= more applicable to guide the student. who 1s facing the

problems like aggressiveness, anxiety, shyness, temper tantrums and poor

academic performance?
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Options :

Cross-sectional method

1. #
Casze Study method
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2. ¢
Cumulative marks record
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Question Number : 12 Question Id : 4771876891 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to ‘Piaget’s Cognitive Development Theory', the child exhibits this

at Pre-Operational stage

Options :
Logical thinking
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Question Number : 13 Question Id : 4771876892 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes in behaviour of an individual that occur by one of the following

factors does NOT fall in the category of learning
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Options :

Changes due to practice
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Changes due to experience
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2.
Changes due to training
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Changes due to maturation
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Question Number : 14 Question Id : 4771876893 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intelligence theory

B -A
(Intelligence)
(290 Td,)
A) Spatial intelligence
T, WedT OB TS,
B) Interperzonal intelligence

0BT ol Thd,
C) Intrapersonal intelligence
0 e - —
HoET w...ﬁlc_eu..e._,
Choose the correct gne
RowHTERy, EoA
Options :

A-m, B-1, C-n
1. ®

A-1, B-i, C-mn

3 @ A-i1, B-i, C-11

A-in, B-11, C-=1
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(Association)
(ﬁa@)
Social amart
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Picture smart
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Self amart



Question Number : 15 Question Id : 4771876894 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT pair among the following

& PhImnYd., 5o B Berkokss, S0

Options :
Differential Aptitude Test - Wechsler

=04 ohot wd, B2y = iaT =id, oF
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Equa]lv Appearing Interval Rating Seale - Thurstone

Client Centred Approach - Carl Rogers
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Question Number : 16 Question Id : 4771876895 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following theory 1s related to cognitive learning?
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Options :

Learning by Insight

LSRR rkiBom 303

1. v
Learning by Conditioning

5 % BEiuenT 203

Learning bv Trial and Error

g o]

Zodnen =, BRIET TruE 308

3. %

Imprinting



Question Number : 17 Question Id : 4771876896 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“An individual once conditioned to respond to a specific stimulus 1= made to
respond 1n the same way 1n response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning
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Options :
Extinction
1. % &

Spontaneous recovery
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Stimulus generalisation
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Question Number : 18 Question Id : 4771876897 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seeking maximum positive transfer of learning.
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A Identification of associations. similarities and dissimilarities among the
learning situations
FUgch I _Be3nvd X FoPnvs, SecdSncs s, SATHIENT notidaoE

B Developing proper ideals and imbibing them to perform things in future
ROCInT BRIFniTRs, BuR, D Eainn mEy, gom,;nd,, fuandss,
ATFLACS BRNTR, BYRRATATL, TS

C) Building generalisations and making their use in further learning
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Options :
AC Glll:v
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Question Number : 19 Question Id : 4771876898 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following which one comprises of personal events and experiences

ssoclated with one’s life

Options :
Rote memory
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Semantic memory
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Short-term memory
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Question Number : 20 Question Id : 4771876899 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the techniques that may help the teacher to sustain motivation among

students in the classroom

o niERe, NaTadd

A) Reward and Punishment
=80 W, 8%

B) Success and Failure
chIF, T, 8,580,

C} Level of Aspiration
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Choose the correct gne
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Options :
A,B.C,D
1. ¢
B. C. D only
B.C.D =%,
2. %
A.C Donly
A C. D=ms
3. %

B,C 01115-'

B, C =8



Question Number : 21 Question Id : 4771876900 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage of learnt material forgotten immediately after 20 minutes as
per the Ebbinghaus experiment
QWL Bodant &0 20 AENY To3T SEmwc miEE
Options :

12%
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Question Number : 22 Question Id : 4771876901 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson
due to fatigue. The Thorndike's law of learning that 1z NOT followed by the

teacher here 1=

Options :
Law of use
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Question Number : 23 Question Id : 4771876902 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT support the concept of Vygotsky's

Constructivist Theory

3] g

Options :

Social interactions are basis to higher order mental processes

TWIORE FomIAnch YR8 ot SnRAE g cknen uoodtmena
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Cultural factors influence cognitive development
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Learning is the product of association between stimulus and responses
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Language plays a vital role in cognitive development
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Question Number : 24 Question Id : 4771876903 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom

@oBnrE dgeony SONEchd, & FYAT w08, PR, LENRoRE
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B) Physzically disabled children
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C) Academically differentiated children
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D) Mentally ex cePtmna] children
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Choose the correct one
aﬁ&i‘ﬁﬁﬁmv 204
Options :
A, B, C only
A B.C ==g

B.C.Donly

B.C. D =%g,
2. %

A, C.Donly

A, C, D =»3,

3. %

A B CD
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Question Number : 25 Question Id : 4771876904 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this model of inclusive education. the specially trained teacher moves from

one school to another and assists the differently abled children
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Options :

Itinerant teaching model
1. v

Resource model
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Question Number : 26 Question Id : 4771876905 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT reflect the concept of self-concept
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Options :

Self-concept 1= the image of oneself
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Real self-concept reflects one’s actual perception of oneself
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Differential Aptitude Tests measure the gap between real self and 1deal
self
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Question Number : 27 Question Id : 4771876906 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following method 1s suitable for teacher centric learning
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Options :

Brain storming
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Question Number : 28 Question Id : 4771876907 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Co-operative learning helps the teacher to develop these among students
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A)  Group processing
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B) Individual accountability
2,008 8 ZeEmoE
C) Face to face interactions
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D) Positive interdependence
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Choose the correct one
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Options :
A.B.Donly
A B.D=msE
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A B C==g
2. %
B.C. D only
B.C.D ==s
3. %
ABCD
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Question Number : 29 Question Id : 4771876908 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to this section of Right of Children to Free and Compulsory
Education (RTE) Act-2009, ‘No child shall be subjected to physical

punishment or mental harassment’
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Question Number : 30 Question Id : 4771876909 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher who got irritated by the comments of Headmaster showed her anger

on students in the classroom. This 1z an example for this defense mechanism
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Options :
Rationalisation
LM Kol
1. #®
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2.
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3. %
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Language 1 Kannada
Section Id : 477187218
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187347

Question Shuffling Allowed : Yes



Question Id : 4771876910 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 33)
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Sub questions

Question Number : 31 Question Id : 4771876911 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 4771876912 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 4771876913 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 477187348
Question Shuffling Allowed : Yes



Question Id : 4771876914 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (34 to 36)
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Sub questions

Question Number : 34 Question Id : 4771876915 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 4771876916 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 4771876917 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

: Yes Display



Question Number : 37 Question Id : 4771876918 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Question Number : 38 Question Id : 4771876919 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 4771876920 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 4771876921 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 4771876922 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771876923 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771876924 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771876925 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 4771876926 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 4771876927 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 4771876928 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771876929 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771876930 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 4771876931 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

) ol - i L
STt SRtITD B F

ol @ el

Options :
% RROTY)

werF 0 HDNE
2. %

2 Q0 Be
3.¢

Tiea) T



Question Number : 51 Question Id : 4771876932 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 4771876933 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771876934 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771876935 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 55 Question Id : 4771876936 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display
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Question Number : 56 Question Id : 4771876937 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771876938 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 4771876939 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 59 Question Id : 4771876940 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 4771876941 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Language 11 English

Section Id : 477187219
Section Number : 3

Section type : Online



Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mandatory
26

26

30

0

1
477187350
Yes



Question Id : 4771876942 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were plous to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation, and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771876943 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses 1s

their
Options :

wealth and power.
1. #

Western education.
2. ®

association with Mahatma Gandha.
3. ¢

positions in the British government.



Question Number : 62 Question Id : 4771876944 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What era 1s mainly discussed in the passage?

Options :

Pre-independence era
1. v

Mughal-era
2. ®

Post-independence era
3. %

Modern era

Question Number : 63 Question Id : 4771876945 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Piousness
1. %

Deceitfulness

Hard work

High moral standards

Question Number : 64 Question Id : 4771876946 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does the expression "leaders of the yore" refer to in the passage?

Options :

Leaders from foreign countries

1. #

Leaders during the pre-independence era
2. ¢

Leaders who collaborated with the British
3. ®

Leaders of India's post-independence era
4. %

Question Number : 65 Question Id : 4771876947 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. #

Only their personal freedom

Their future generations

Their lives, property and sanity
4.

Sub-Section Number : 2
Sub-Section Id : 477187351
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771876948 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.
A) He apologized sincerely for being rude.

B) Later. he felt guilty about his behavipur.

C) During the meeting. Mr George spoke harshly to his colleagues.
D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B,A. D

C,E.B,A, D

B.C.E.A.D

C.E.D.A. B



Question Number : 67 Question Id : 4771876949 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A 1= correct.

1. ¢

Only the Sentence B 1s correct.

Both the Sentences A and B are correct.
3. ®

Both the Sentences A and B are not correct.
4. %

Question Number : 68 Question Id : 4771876950 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Dezpite being outsider, she was elected as chairperson of the
committee.”
Identify the suitable option to complete the sentence.

Options :

an, a
1. ®

the, the

a, the

an, the
4.«



Question Number : 69 Question Id : 4771876951 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child 1n the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. %

frightend
2. %

frighteaned
3. %

frightened
4.¢

Question Number : 70 Question Id : 4771876952 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle™.

Options :



Question Number : 71 Question Id : 4771876953 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

Vha ev expected was to begin at six the performance.
What they expected to begin at six the perfi
1. #

) @ What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

Question Number : 72 Question Id : 4771876954 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven’t turned up yet.

Choose the correct option to complete the sentence.

Options :

get gver
1. ®

sent off
2. ¢

finds out

glve 1In
4. %



Question Number : 73 Question Id : 4771876955 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :



Question Number : 74 Question Id : 4771876956 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn’t you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1. v

He asked her why didn't she inform him about the change in schedule.

2. %
. He asked her why she did not inform him about the change in schedule?
3.
He asked her why has she not informed him about the changed
schedule.
4. %

Question Number : 75 Question Id : 4771876957 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never actz so rudely, ?

Choose the correct option to complete the sentence.
Options :

% don't he

does he
2. ¢

doezan’t he

did he
4. %



Question Number : 76 Question Id : 4771876958 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon'.

Options :

phenomenas
1. #

phenomena
2. ¢

phenomenon
3. ®

phenomenae
4. %

Question Number : 77 Question Id : 4771876959 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT szentence.

Options :

When she entered the room. evervone was talking loudly.
1. ®

While he was watching TV. the phone rang.

After she finished the exam. she goes to the canteen.

By the time we arrived, the guests had already left.



Question Number : 78 Question Id : 4771876960 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She vizits her hometown once 1n a blue moon.

Choose the meaning of the expression "once in a blue moon".

Options :

very ravely
1.¢¥

dav by day

2. %

day after day
3. %

regularly
4. %

Question Number : 79 Question Id : 4771876961 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
volce?
Options :

The men have been exhausted with the hard work.

1. #

The men are exhausted with the hard work.
2. ®

The men had been exhausted with the hard work.
3. ®

The men were exhausted with the hard work.
4. &



Question Number : 80 Question Id : 4771876962 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite serlpus.

1. ¢

I have been quit serious.

2. ®

I was quite serious.
3. ®

I had been quite serious.
4. %

Question Number : 81 Question Id : 4771876963 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
There was a lot of conflict between him and her.
Identify the antonym for the word "conflict".
Options :

dispute
1. #

quarrel
2. ®

friction
3. ®

agreement
4. ¢



Question Number : 82 Question Id : 4771876964 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. #

on
2. ®

by
3.

off
4. %

Question Number : 83 Question Id : 4771876965 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At this juncture, it is impossible to say whether she will make a full recovery
or not.
Here the word “impossible” is a/an
Options :
verb

1. ®

adjective
2. ¢

1gun

adverb
4. %



Question Number : 84 Question Id : 4771876966 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was incredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

[ % who

whose
2. ®

whom

which
4. &

Question Number : 85 Question Id : 4771876967 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW skills in
Communicative Language Teaching (CLT)?
Options :

Practicing grammar rules in isolation

1. #
Developing language skills independently
2.
v Using real-life contexts to enhance language skills
3. %

Relving onlv on writing assignments
4. %



Question Number : 86 Question Id : 4771876968 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 15 broader than an approach.

1. #
An approach is a set of classroom activities.
2. ®
A method 1s the theoretical basis, while an approach 1s its application.
3. ®
An approach is a theoretical viewpoint; a method is a practical plan for
implementation.
4.«

Question Number : 87 Question Id : 4771876969 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which activity helps best in reinforcing vocabulary in voung learners?

Options :

Dictation
1. #

Grammar drills

3 ¥ Word games and picture associations

Writing reports on vocabulary
4. %



Question Number : 88 Question Id : 4771876970 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: Yes Display

“During a courtroom trial. a juror listens to the defence attorney’s argument

to judge its logic and truth.” This type of listening 1s known as
Options :

Selective Listening

1. #

Discriminative Listening
2. ®

Critical Listening
3.¢

Appreciative Listening
4. %

Question Number : 89 Question Id : 4771876971 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT ) 1s
Options :

to pass or fail the students based on their performance.

1. ®
to 1dentify the learning difficulties of the students and improve
teaching.

2.¢¥
to rank students among other competitors.

3. %

to complete the syllabus and prepare the students for the next class.

: Yes Display



Question Number : 90 Question Id : 4771876972 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A psvcholinguistic barrier in learning English refers to the

Options :

lack of playground.

1. =
poor classroom seating.
2. %
fear of making mistakes.
3.
familiarty with foreign culture.
4, %
Mathematics
Section Id : 477187220
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187352
Question Shuffling Allowed : Yes



Question Number : 91 Question Id : 4771876973 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the mean of the frequency distribution 1s 59.3 and ¥} fix; = 1429 + k, ¥ f; = 30.

then the value of *k’ 1s

(.

smErs HFoHch Io0R0 59.3 =3, Yfix; = 1429 + k.Y f; = 30, &h© S, k' =

-
——
z, 1

&l

Options :

350
1. ¥

Question Number : 92 Question Id : 4771876974 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If secO +tanB =+v3and 0" < 8 < 90", then cos B =

fa — = - - " — — —
secB 4+ tanB =+/3 ==, 0 < O < 90 °, T>MTT cos B=

Options :
2
L% V3
1
2
2. %
V3
3.¢ 2



Question Number : 93 Question Id : 4771876975 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A and B are any two finite sets such that n(A U B) = n(A) + n(B). then choose
the correct relation between the sets A and B.

A T2, B cdngtic wors ®0&sE neaneahm, @ n(A U B) = n(A) + n(B), ST A =s.
B

Options :
A and B are equal sets

A =23:, B 350 rieenshs

1. % =
A is subset of B
5 % A @oeth B ok svEdmnmhd
B is subset of A
B @otodds A o suEDTonmoAn
3. ®

A and B are disjoint sets

— A B R —
A el B Nve ACORISS | ctl’l‘:"bﬁw

4. -



Question Number : 94 Question Id : 4771876976 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The coordinates of the point which divides the line segment joining the points

(—6,10) and (3, —8) in the ratio 2 : 7 internally lies in the quadrant

Options :
Quadrant I

deagorw [

Quadrant II

EEatgares 11

2. ¢
Quadrant ITI
waugerw I11
3. %

Quadrant IV

wsayerw IV



Question Number : 95 Question Id : 4771876977 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 0.65 = g where p and q are co-primes, then g —p =

0.65 = 2 =n5 8, @9, p s, g 3B-T,58NeNE,3, 8088 g —p =
q

Question Number : 96 Question Id : 4771876978 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose an inconsistent pair of linear equations from the following.

Options :

x+2y+4=03x—6y—2=0

1. ®

bx —3y =—-11,—15x + 9y = —33
2. ¥

3x +4y=11,9x + 12y = 33
3, %

Sx—%yz&‘?}x—i—l[}y: 10



Question Number : 97 Question Id : 4771876979 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two dice are tossed simultaneously. then the probability that the sum of the

numbers appearing on the top of the dice 1s a prime number 1s

= SR 5 o T il L £ - o p— o — £ - e %y i o, gl
:-.:ﬁu WL“;T‘?;H: MEELW\JM ‘uu-‘u::M\_rTHvE_,wl ;:E\.r wac‘:-‘:l.-\.l ea..-.--:«..-_ﬁ.b-rﬁum Ii-ﬁ_‘{'ﬁéb:v%
= — T 0 - = = -
Road;nY Bed, i vy Sob0ienes Soymdcond
Options :
13
36
1. %
18
I
5
3.9 12
11
4. ® 36

Question Number : 98 Question Id : 4771876980 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If sin ® + cosec O = 2, then sin® 8 4 cosec® @ =
sinB + cosec B = 2 =nT,. 2, sin® @ + cosec®d =

Options :

;)



Question Number : 99 Question Id : 4771876981 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The time taken for T4800 amount to T5556, if simple interest 1s calculated at

30, :
'6 1 0 per annum 13
5.z 3
7 4800 =rE.3; 7 5556 &, Srmudath,® Ao, ATY WA, 00, mo&rE 6 Y woms

Options :
2 years 3 months

2 =EF 3 Songls

1. ®



Question Number : 100 Question Id : 4771876982 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

PRyt

15xk2y 323
Options :
4x”
5}7?26
1.
4},?26
7
2%
)
3 0
4y7
iy
4 5x’'z

Question Number : 101 Question Id : 4771876983 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of factors of 4560 13
4560 T =ozny Fe;

Options :

20

e
[*s]

40

19



Question Number : 102 Question Id : 4771876984 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The compound ratio of 2 : 3 and 9: 16 1s equal to x : 64, then the value of ‘x" 1s

Options :

6
1. ®

S
2. %

48
3. %

24
4. ¢

Question Number : 103 Question Id : 4771876985 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
From a circular thick paper of radius 20cm. a sector with angle 216 1is cut put
and 1ts bounding radi are bent to form a cone. then the height of the cone (in

cm | 18

Options :
16



Question Number : 104 Question Id : 4771876986 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to subsets of a set

A) P ={x:xisanodd natural number and 9 < x < 15}.then the number of

P={x:xwomhtiz & .-TiﬁFE Segd; w8y, 9 < x < 15}
wEdanng 0, 16 ©

B) Q={x:xisaletterin the word FOLLOWY, then the number of subsets of
set Q 13 16.

Q = {x : x LCWTFOLLOW} =xxd 3 @8UmAd, Ro3d Q % wuadgmnne
Nw-:l-l 15 '»_-ﬁw

Choose the correct answer.
Options :
Both the statements A and B are true.

HEE e = = - o
A TS B wTRR Je9sNTo s,

1. ®
Statement A 1s true and Statement B 1s false.
2e02 A 30 s, e B 2oty

2. ®
Statement A 1= false and Statement B 1= true.
=8 A FoTs, T8, 2e2E B AwmonS,

3.

Both the statements A and B are false.

p—— = — ] v g, o e
A it E wlBER TrYENSs A%,

4, % N %0



Question Number : 105 Question Id : 4771876987 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

; ;b . 1 1 ; ;
The discriminant of the equation T 3 [x+0,2)is

o 1

3ocTon SR - — —— = 3, (x #0,2)
x x—2

Question Number : 106 Question Id : 4771876988 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of odd natural numbers from 1 to 2025 1=

- o o —
R0 NT BRE

i1

1 Dol 2025 S=EAS 33 £, 3AF

Options :
% 10,20.100

, x 1022121

10,24.144
3. %

4 v 10,26,169



Question Number : 107 Question Id : 4771876989 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choosze an INCORRECT statement from the following related to irrational

numbers.

- — . L R R . -t e N — D e 2 = [ — =
PPN, L NTN IcWeRPAT FENIFNTT T, B Te9TORR, BOLERE,
Options

I.
1

(7 +4V3 + G — 14

2. %
2

(V3++5) =38

3.9
1
= 4 !
e 6+ V5



Question Number : 108 Question Id : 4771876990 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In AXYZ, 2X =55 and 2Z = 50", then the sides of AXYZ in

ascending order of their lengths 1s

A iy h — — - — — — P o o oy
ﬂXYZ LX 5 5 ) .{"‘-":Ilr\ﬁ b -L"‘-F'd‘-' AZ 5 0 -"-'.CE‘ G = ) t: 00 "._l -':| = U\G{ Z
1 ry 1

309, AXYZ ® wand

Options :

XY, YZ ZX
1.¢¥

YZ, ZX, XY
2. %

XY, ZX, YZ

L% ZX. Y2, XY

: Yes Display



Question Number : 109 Question Id : 4771876991 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The median of set of 11 distinct observations is 13. If each of the largest 5

observations of the set is increased by 3. then the median of the new set

T e g, [t il i - vt W i i § VI
11 SPF_ NS HRBENT NRE 20230 13, Nl T;etinotis GRE, § asEnsse, 3 bem

Options :
18 increased by 3.

K Roltni-—t7- M onltny

1. #
1s three times of the original set.
Tl M el Thiy,,
2. %
remains the same as that of the original set.
o rneadedode mod 3.
3.¢

18 decreased by 3.

T i —
e E&'Z{M ::u_ﬁﬁw_



Question Number : 110 Question Id : 4771876992 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ABCD is a parallelogram with AB = 15 em, BC = 12 em and area of the

parallelogram is 90 cm?, then the perpendicular distance (in cm) between its
longer sides 1s

ABCD w.00s 3T5om2c280

i
ol
i

+i
i
]
il
=
m
[}
—
n
0
=
0}
O
[}
et
g ]
0
3
£l
ol
1<
2
4
2
;!
Gl
[ ]

Options :

LD



Question Number : 111 Question Id : 4771876993 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A bus travels 42km in 35 minutes. If the speed remains the same, then the

distance (in l{i]ﬂmeters} the bus can travel in 6 hours 1s

Options :

432
1.¢¥

300

Question Number : 112 Question Id : 4771876994 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The volume of a cube is 216 cm?, then the total surface area of the cube (in

sq.cm ) is

wotdh PRI BOTeR 216 cm? =AT, FoIT PRT wids,; e, DA eeoF (28,30, IT.)
Options :
216
1. ¢
144
2. %
64
3. %
36



Question Number : 113 Question Id : 4771876995 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An observer of height 1.68 meters i3 19.32 meters away from a coconut tree of

height 21 meters. then the angle of elevation of the top of the tree from

obzerver's eve is

Options :
30°

1. ®

(=}

45
2.

60°

90"



Question Number : 114 Question Id : 4771876996 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If P 1s the set of all prime natural numbers. @ is the set of all even prime
natural numbers and R 1s the set of all odd prime natural numbers, then choose

the correct statement/s from the following.

- o - T - P - oy e - - o
P acn,, 205w, &, 0F8 S0d;nd A eha 3 SETR,., AT LdPIE; o, AN Ao
L} o (o el 4] o o 4 L) v
- % - [ i - — = A e - - 2 - p— o —
A ZTeEs, R sy, WA WA, o AnFE wC;.Ib_i?:‘ ~ETT L—ﬁ:ﬁﬂul ?:‘ﬁmaﬁ,ﬁ%cﬁ AdoinT
§ Ny

B) P-QUR
C

!
=
[}
o]
[¥x]
D
=
=
(18]
[}
[
|1
H
[y}
(]
—~t
[<¥]
=
[#x)
=
48]
=

Options :
A & Bonly
A& By

1. %
C Dlﬂj,'
C =23,
2. %
A& C 01113'
A& C==g
3. %

L AB&C



Question Number : 115 Question Id : 4771876997 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Nature of mathematics reflects the following characteristics

o= |

0323 F_CnEn = 3RS nurnuEnnes, & ERctmed
ook, L
A) A Science of abstraction

aThneracd L
B) Based on logical reasoning and axioms

P -

D
To3FE ToEFEE muTL TRUSE NT LDUR 2T

C) Based on Inductive and deductive reasoning

- . e, e, — g e, e
ﬂ-‘uuﬁ:&«; :«Ev Eﬂf\i‘u@wb{'\-‘l{ E E E&éFEE'::H E\Q{LU' #JE

D) Uncertainty in results

1.9--.-'\5{ Cgﬁg‘ FE H;én_ﬁé
Choose the correct answer
etalevepinflivicRe vl = lo N
Options :
A& B only

A & B =98,

C & D only
C & D =%,

AB&C only
- A B& C=ng

D only

D Ma&-

: Yes Display



Question Number : 116 Question Id : 4771876998 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a learner draws a figure appropriately as per the general statement of the
theorem. then the above act falls under the following teaching objective of

mathematies.

Options :

Knowledge

j

-
i

it

Understanding

o — o e, —
YoLT T iy | Bl el

(e

Application

-,
B 00



Question Number : 117 Question Id : 4771876999 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes that occur in the Teaching learning process as per the prezent

curriculum frame work 15 /are

27,2 TT,5m0 WREe, R 50 Begm 3195 5,50hehd,, 300w uEmEEnk:
A) Emphasis on Learner centered Education.

B) Believes that the knowledge is static and has to be taught only by the

teacher.
IR X TTNT Ty, SFF0T TR, FUTeleB wotis FouE.T,

C} Believes that learner can construct the knowledge and creates the
knowledge.

UOITTT TR, VENFRWEITC WL, ERTI, T, 5 BWETT wols

Sowas 0.

D) Teacher facilitates, encourages and assist the learner to foster active
learning.
5820 sUCmTT 23,0h 3ddchE, BEILr URERY ERGIREIT.T,

o

TR _%3082,08 thid, 3=00h BRENE
Choose the correct answer

20T \:u'\.- Uw-uu =04

Options :
A & Bonly
A & B =g,

1. ®
A, Cé& Donly
A C& D=3
2.¢

A, B& Conly
A B& C =g



D only

D =33,
4. % -

Question Number : 118 Question Id : 4771877000 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Following 13 NOT the characteristic of good mathematics text book.

|

T S W A ] & Fe— . - T W i
S5 SPNENY YUE. 7o N2E =T, 5,50 LEnno

{
L

d

0
Options :
Content should be organized creating a balance between logical and

psvchological aspects.

SoPLiReicss
1. ®
Connecting mathematical concepts to real world applications.
nedex Zose Bness, 2,5 wid T ws oWinen JoTErRem T,
2. %
Well graded exercises.
UUE, TR 3,ec3esDAR Wy RN
3. ®

), e, e, ] 3 — , =
MR ER Womiio surd Batinnk BnUollE,



Question Number : 119 Question Id : 4771877001 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following assessment tool i NOT considered as a part of formative

assessment.
[ —— S S T O - — ™ ) g e 1
S EPNR WL ERER ERNRS, DIERRE,. F SiYemRERET wanmh

Options :
Portfolio
ZpctTrgpedoin
1. #
Projects
ZoodnemRnsh
2. %
Asslgnments
203Re22E Fo0%hF
3. ®

Semester Examination

R —
o bt o z,.fl;

sl



Question Number : 120 Question Id : 4771877002 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The unit plan in the mathematics subject helps the teacher

nedg H=CLT R Pz cdacwioks 33301 A0l TREE.E
Al To get an overview of the contents in the unit.
PLERY, X dEchnY sndacEnm, R0,
B) To know the requirement of periods to complete the unit.
PLEDR, FROFARIIC: 8xpny wmg,;zdchas, d9hus,
C) Gives an idea which unit has to be dealt in which month.
s PLFEE, 0w Songd,, Anrbale wol FU,,KobE, Al I,
D) To transact the lesson for a specific day

T p—— L e ——) P p—— PR R e —
aBIFE,, Elw:r:'..d.-_a‘n.a%u o TaBma, atrclElEme

o)

Choose the correct answer

20RT YuE.OmEy, ©0X

Options :

A & Bonly

A & B =g
1. v

C & D only

C & D =g,
2. %

A, B& Conly

A B& C=ng
3. %

A, C& Donly
L« AC&D=Rg

Science

Section Id : 477187221
Section Number : 5
Section type : Online

Mandatory or Optional : Mandatory

: Yes Display



Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187353
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 4771877003 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement among the following.

E0LRS, T

-t o gl - - = R o |
= EThEmgnyd,_ 20T =t 4

b

o

e, B
bt o

Options :

The force of buoyancy is the reason for an immersed body to appear light.

ThAE B =retsh Frews Seeeddoh woRe F0M
1.

Relative density has units to measure.

ToEeg el dodn Bdoher PuEnTRy, BRold
2. %

Heavier body floats.

PoTmn Rrem Bred,h.
3. %

4. %



Question Number : 122 Question Id : 4771877004 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the ‘correct quantum number set’ for the outer most electron in Na

o —, — " — NP R P R R —— T - L Y L R N
i Tl e T 1 mﬂc&-‘iuaw -‘uav‘uzw Te sOeaad” 000 nET et
H Ea = z

(ol
L

= — —
MNa =<, ﬁ\r?\-l’h'_'u =

o

ka.r;ég-‘u
Options :
1
n=3,1=0m; =0,m, =
1. ¢
1
n=21=1m; =—-1,m; =
2. %

n=2I1=1m; =1,m, =%

n=31l=1m;j—=0,m, =§



Question Number : 123 Question Id : 4771877005 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A FALSE statement about refraction of light 1s

= P 5
o O — R e .- L L - 2
T 1«.-%‘;\:7 WS ATWoORAT E% =CoE

Options :

S

— — — e D —— T —
MLL?.-., #.-ws.n‘m d T T D f = huu-ﬂ‘:w

Velocity of light 12 less in denser medium.

— — e =7 o 2
NLGU:I'/ bt 2. e bt bl e o T T

£l

=y -
N ERTR "QUUE_,CE_

Angle of incidence /refraction is less in rarer medium.



Question Number : 124 Question Id : 4771877006 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The true statement from the following.

Options :

TP FoREFEL NEL,EF IoeoT 20dB.

Vocal cords close when we speak.

J

|

— e, s - s, s, e e e - e
LE&% G WS g ) L T b 1 T b P i:cl:il"lnl'i‘:’u "‘u.u-.fEn.-E

2
¢

; 0 Z03 3,

2
1 =% —=

3. ¢

Sound can travel in vacuum.



Question Number : 125 Question Id : 4771877007 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

VSEPR Theory mainly fails to explain

VSEPR AT o285 =hei;moN D8w, Hz=daws Hpomhd
! L Ll

Options :

Space occupied by electron pair

- ot o com Tl el el
B Tl A 2»...'2’;& uEMdﬁaﬁ.‘cﬁuu"w A~

=
b ) e

Bond angle
ueR BmeR

Strength of bond

3 & WoRT WO

Molecular shape

{8

[
O
—rn

O
ET20

: MCQ Option Shuffling : Yes Display



Question Number : 126 Question Id : 4771877008 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The force of attraction between any two universal objects 1is INDEPENDENT

of
oIRRRe TR FTFET TRe.NY FEDR wsErEoh woy 1 Fod,moRciE, B
Options :
Distance between objects
WY SRR BoE0
1. #
Mass of objects
=R.NT TE;008
2. ® :
Universal Gravitation constant
TWFEE NTuE F=FeD A, Tocs
3. ®



Question Number : 127 Question Id : 4771877009 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A 60W bulb consumes “x”J of energy when connected to an electric source of
120V. The amount of energy consumed by the same bulb when connected to
source of 240V 1s

BOW wo, 120V &%0,3° sonwd, ScZeracmen “x"J 320080, WERE.B. 240V

Options :

2x dJ
1. ®

4x J
3. ¢



Question Number : 128 Question Id : 4771877010 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A coln i1s kept under a glass slab of refractive index 1.52. It appears to be

shifted vertically by 0.7em. Then the thickness of the glass slab 1s

1. v
1.5 em
1.5 Ao &oe
2. %
2.5 cm
o
3 x SRR

1.0 o e



Question Number : 129 Question Id : 4771877011 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.

Setl Setll

R | = ||
A} Nylon i)  Wrinkle free
B lent RoBo; T3
B) Rayon 1) Diapers
wldevsnind B,ECS
C) Acrylic 11) Fishing net
wd,dF QoEmomooE W
D) Polyester iv) Carpet
L e ifte] DT

ChGDSE‘ the correct answer:

S S S ] -, -
5l e lo v bew) E-H;E_.u“‘w'_'\.-uq &'5.«._

Options :

A-in, B-11, C-1v, D1

1. ¢

A-in, B-11. C-1, D-iv

A-in, B-iv, C-1, D-n

A-11, B-1. C-1v, D-m1

: MCQ Option Shuffling : Yes Display



Question Number : 130 Question Id : 4771877012 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The true statement among the following

[ o [ — o
= EASENTY ARTEE =8

Options :

Smelting carried out in Reverberatory furnace.

DZwrdesd Bowsschd,, sohacddchas, fdiconsd i,
1. #

Roasting carried out in absence of air

Mok wRiEA ohd,, Sbokdfol, SEITRNE.E,
2. ®

CaO 1s obtained by adopting Calcination

59,0 Re3TF wdmBidadh,® TrvE Ca0 =@ chourics,d
3.

-

EA.I-FE-E.,_- M%:vﬁfﬁi; EEE;E uaw«uu.l h.-'-r-‘ EI:H' ‘-.r’ E\:ﬁﬁ{'i:m é‘:ﬁl.pa,;in.la ﬁi'j_
&

4% “

: Yes Display



Question Number : 131 Question Id : 4771877013 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The substance which 1s NOT treated as an electric conductor among the
following
& hIGNYd. ., ATy,E Esne T =onsdEs =13,

Options :

Mercury

— o —
b

1. ®

Bismuth

g

Graphite

3. % MU
Sodium

- =
AnJRt@EOI0

4. %

Question Number : 132 Question Id : 4771877014 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The coefficient of O7 in the balanced chemical equation of burning Propane

B

- oy — e - ] — o — P Y - S [ p—— — e —
HRALEERT @R, AUREIE ATNSRCUS TRARChAT FdesTnRy,, O2 ® NumocE

Options :

1.ggl

Ln

2.



Question Number : 133 Question Id : 4771877015 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In plants, this part of a flower develops into a fruit after fertilization

et

o — e g PR p—
L= = i s Eai)e
u\.-,ﬁ, == O ] ﬁ ‘.Q-rbl‘l% e

-
AlAL i

L1

e o
obal Mo

il

20 S A B3PoeE,
Options :
Embryvo

1. % PR

Embrvo Sac

-, e o R
Er-ul?.‘;r.‘b L3l

2. ®
Ovars

s » ©° mZod
Ovule
SBOTIN00



Question Number : 134 Question Id : 4771877016 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the cell organelles that are found in both Prokaryotic and Eukaryotic

cells

— =] — —, = = [T o . [ ga—-p- R R s |
HRRTONAFLIFT U8y, OXuEF;DClrctdE IRCINTL,, TOBIUWTIE VIWTRET DoNINTR0,
R " - 1

[ el s

Options :

Ribosomes

R



Question Number : 135 Question Id : 4771877017 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fixed joints are present in this part of human body

Options :
Pectoral girdle

! it w1
WoRPOTT BIOLE

Pelvic girdle

) w FUSF NG

Slkull

— iy
SOWINTIE

3. ¢

Backbone

-

- ‘g o
[TV oy



Question Number : 136 Question Id : 4771877018 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following sentences and identify the correct answer
& FTNE o NTRs Wd TEL. 00T YUE,ORR, MoTidl

A) The plants with tap root system have leaves with parallel venation

= iy B o T e T e o e — i D —" T — =
o, S R0RATIE ARNTS AlSena0E0 AT wmbl.uwu’szaﬁ

c
<
ﬁn
2l
i
il
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o
il
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2
-
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[
(a8
£
(118
i
G
w2
&
lw
9
r
?

= e §oud e i 3 [ Sap— — — ol
= ] - o et i J A a..'_?quEDﬁﬁ il et E:’-'.;u
=y T h ! B

Options :

‘Sentence — A’ 1s correct, ‘Sentence — B’ 1s incorrect

‘TE; — A’ 50 ‘mo%; — B’ @1,

1. ® ' -
E}EIlt-EH{‘E — ;"1'1 12 INcorrect, Sentence ~F B 158 correct
‘mii - A, EQ_:_;F Jm -E i El '.-_J

2. %

Both the sentences are correct

sl y
% wORR WE NS A00ITA

3.



Question Number : 137 Question Id : 4771877019 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the process of cutting the Woolen fleece of a sheep from the following

- e o e, o,
vlaleve i i el Pl -

.
ol

S — oty - P e g B ) s s g g - 4
,5-\1\.-1\.1 T T et b S, = =‘|:’ﬁ§.r1w.l'l‘:’c'uu 1 T b e

o

Options :
Scouring
UL, Tt
1. #
Shearing
2. 03amTe
2.
Stiﬂing



Question Number : 138 Question Id : 4771877020 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the plant that stores food materials in stem

-, e O el oy o o T -
fedy MCTLSe A A&y TWOWS A

Options
Potato
=ORNE,
1. ¢

Raddish

4 % ToROoh

: MCQ Option Shuffling : Yes Display



Question Number : 139 Question Id : 4771877021 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the phyla that are known for having an open circulatory system.
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B) Arthropoda
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= erEpRE

C) Mollusca

D) Echinodermata
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ChGDSE‘ the COrrect answer.
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Options :
A & Bonly
A& B=Eng

B & C Glﬂy
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2. ¥
A & D only
A& D =ng
3. %

A, B& Donly
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Question Number : 140 Question Id
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Diatom’ 1s a/an

Options :
Protozoan
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3% 0
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: 4771877022 Question Type : MCQ Option Shuffling : Yes Display



Question Number : 141 Question Id : 4771877023 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the hormone that iz secreted in both male and female humans



Question Number : 142 Question Id : 4771877024 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following gas in the normal atmosphere i1s iIn much smaller
quantities?
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Question Number : 143 Question Id : 4771877025 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following animal is listed in ‘endangered list™?

= 29AT IS Ty tichas, 'WeDToRRD,, Tom B8, 0hd, . B, BRESARE?
Options :

Asziatic lion
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Kangaroo
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Desert fox
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Question Number : 144 Question Id : 4771877026 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tracheal Respiratory system 1s present in this organism

Frog

2=

-

Earthworm

3 % WOmO

Cockroach

204

4. ¢



Question Number : 145 Question Id : 4771877027 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ravi. a Physical Science teacher. applied alcohol on a student’s hand and
asked him to observe and describe the sensation. He repeated the process with
spirit and petrol. The student reported a cooling effect each time. Based on

this, identify what teaching method 1is the teacher using.
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Options :

Deductive method
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Lecture method
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Question Number : 146 Question Id : 4771877028 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following learning experiences iz NOT categorised in Edgar

Dale’s cone of experience?

Options :

Direct purposeful experience

1. #
Contrived experience
ClerElE W@

2. %
Dramatized experience
Sokidecd wREuys

3. ®

Vicarious experience

o= DT h eym



Question Number : 147 Question Id : 4771877029 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a laboratorvy experiment. a student accidentally splashes sodium
hydroxide solution into his eve. As a science teacher, which of the following
would you choose to wash the eve as the most appropriate first-aid treatment

for this eye injury?
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1. #

Strong sodium bicarbonate solution
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1% boric acid solution
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1% hydrochloric acid solution
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Question Number : 148 Question Id : 4771877030 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s NOT indicative of the hypothesizing skill?
& FERSRNTY. CIRFP T YITE, B FUSY;EE, IRBIARDV.?

Options :

Formulating questions which lead to mquiry
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Using the senses to gather information
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Identifying variables for an experiment
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Attempting to explain observations or relationships in terms of some

principles
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Question Number : 149 Question Id : 4771877031 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following would be the most suitable strategy to introduce the

toplc ‘Communicable Diseases’ at upper primary level?

-1 - T - - — T, - -
o S0t ww‘:&gﬁr‘wq =hwnlaws

Provide a definition of Communicable Diseases and introduce the concept

by lecturing.

Arrange for a doctor’s prescription pertalning to a communicable disease

and hold a discussion around it.

FoTY,EE BN, FowoRAR 8,50 audy B 7 uUs, 8,83, ©08 mhe, ow
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o8, wulrohso, REA,
2. %
Hold a discussion on various communicable diseases, preventive measures
to avold their spread and their cure.
HOT TooTyEn® Seenings, BT SoROSchE, & Zo0 Fdnti, W HEnTs
=Ey, wnd renERdics: b wWilrchas, Sk,
3.

Showing short duration video clippings of various communicable diseases.

measures to prevent and avold their spread.



Question Number : 150 Question Id : 4771877032 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from the following.

I

1 RTINS 0B, &3 ohws, noTudd,
Options :
Humans can d_igest cellulose. Yes/No
ToRem 0o Avy;BRea® B, BerdrAdad we T,  F9Ey/aY,,
1. %

What are bones made of?

Towdnss cRRRE0E TRREY,_ 3, =72

Collagen and Caleium ph{}Sphute

ot

OB w, Ty oho FI 0
2. (Calcium and Sponge

3. Sponge
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4. Calcium and Ferrous sulphate

T30 oo 2hds, PO R ok
2. % '
What would happen if humans could fly like birds?
TRLE; T ZENTod Z00 METET AFnwEIEs?
3. ¢

On a scale of 1 to 5 points, how likely are you to recommend Biology as a

subject of study after 10 class?
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